MR R B

" &

PR H202201048 E/45/171 2/ 2 / 2
s THJ 3000 / 0.5.0 — JXVF SRR~ 1700 X 2800 X 2200
EPER - FIIHFRERT FEHIE . 1500X 2100
Eias s Ry % W K5/ 85 Z W AWK VA %
! * %Wﬁiﬁ‘%gﬂ# 20% N, RLH FITIA AL R Hréﬁ%z#r%;&il‘f:ﬁﬁﬁ?ﬁ#% ! & %Eﬁg‘;g’ "
2 | % B 2RI 168184 K JE=1500 1| B ZAEAE LG
3 | ¥ ZEMPE WAL, Blemm EFIAR | 10 | B | 2R B
4 | A URLFG, 16%1, #5125 4 | A | w¥fEE RS
5 | & SR 150X 325, t=16 2 | | wEAELRR
6 | ¥ iRl Bt 350X 314 2 | A | wEEfCE R
7 | S I TR Bt 460X 314 2 | A | wEEfEE R
8 | A Ll BEEe, 1=300 $ 400-8-10-16 2 | A | wEEfCE EGE
9 | % 57 48 £ 4N L=325 4 | & | wEELE
10 | * SR SCAEAAE KJE: 1L=3410 G AHHFK3410, RFES | 2 | & | B AT
1] % SRR E B D16 FifT 4 | M| BEAESIAEL
12 | ¥ KA A& R BREE 5. 1764 X 52832 1 | & MRS
13| % FLAT B 63X 63X 63 Bt 16 Hiff 4 | A E il
14 | % R TR 1681844 L=1914 2 |
15 | % Gt iR 200X 290, t=16 2 | B | BEATR
Tl | » T L 2#“”1‘”{?%;2‘3;1‘5610 | L3
17 ] 5k R FrUELE 130 X 50 X 50 4 | M | By
18] A hi & ER bRk i 4 | A | wAeHPEH
19 | % B R O 16424 1=2200 4 | & | BER3ANMERE
20 | * v A Tebbr e L= 400 2 | B | HiEgig
21 | * HBR 4T i ErpbriE R 1.=3000, FLEE2000 1| &
22 | * BoEH PR 295X 90X 55 2 |
23 | * T IR R 28 PRkt 1| B
24 | ¢ LR TR FRUELE 930 2 | & |50, xEREIE
25 | % I IHLSEAE 1=2715 0 | % IH s
26| A LR A fitT90/B, %% FL75X75 H103 T4 5 it 4 | A
o7 A Xif E AR Ji AR Hits 2 | A N
A B mAR Ji AR Hi s 2 | A
. QI107Hr AR 2 | fRiFMJiE : 6000KG 1L R
w4 s BLRD (SHEHIL | g0 5n/s WiE: 16am | L | & | 1ot
29 | A AR R fie KA, BRI K: 1689 1 | & | BEAELEL
30 | * - UKSTF 9 | HEAET
EEA R . 1. 5Smm/8X i i 48
31 | JE MBER =382, H=2200 2 |
32 | ¥ J5 HHEERR =500, H=2200 2 |
#% | 33| MIRT. JEEER 1=355, H=2200 4 |
BE | 34 | ¥ R BEAR 1=500, H=2200 8 |
35 | ¢ AT EEAR =232, H=2100 O IS
36 | ¢ BRYLEER 1=32, H=2100 1| 7%
37 | ¥ BRI 14 RN ) L=1764, H=100 1| | AFFBUE 1500
38 A ER SR iR L70X 70X 6 1=250 11 | 3
39 | A FHHE L70X 70X 6 L=200 11| #
40 | A | EPEST A EIR S L70X 70X 6 =800 22 | A%
41| A BIP S AR ERY L70X 70 X6 L=150 22 | 1
i 2| A B S 4 L70X70X6 L=1890 11 | #
A R 1
A R R 1
5K/%, HiE: 6 % .
43 | A i F T T90/B K/, B 0 % 30 | %




I [ !

e = 1202201048 B/¥5/11 2/ 2/ 2
S THJ 3000 / 0.5.0 — JXVF B AR 1700 X 2800 X 2200
AR - FIAFARRT AT« 1500X 2100
HRAE | 75| AR % W K=/ % ot/ AL %
“ul A i 2 S TK5A ﬁi; g; g i; 30 | %
45| A EFPUEER T90/B 4 |
16 | A I SPUERAR TK5A 4 |
47 | A F SR T90/B 60 | H
o 48 | A G NRE] TK5A 70| R
;’n 49 | A LA ARG T90/B 12 | H | BRALAFE
50 | A 2 I e £L=1100 2 | # FLEE96x96
51 | A FEHRIUE T90/B 0 | FLER110
52 | A EIEINES WD TK5A 0 | % FLEE95
53 | * SHR T90/B £=0.5mm, 1.2mm 40 | R
54 | % SHPHR TK5A &€= 0.5mm, 1.2mm 40 | JE
55 | A RIS PN & JE R 4 | A
56 | +¢ of 248 e 1590 X 3800 1 | & | I HREIH
57 | A Sof B YRR 37 28 75X 60X 100 2 | M| XS HAR
58 | A Yot S RS, JEFRL=220 ®400-8-10-16 2 | A | SR E A
59 | A UAIFG 164, B 125 4 | B | EIUER, 35
60 | A o} B Ak 750X 300X 80 68 | 4 | k115, 54kg/ft
61 | A o 55 13K He AT B=17 4 | A ] H &
x| 62 | ¥ ot S A0 B A 4 L= 240 0 | fF | HERcrEx S
#H | 63| ¥ o 5 R kA Z50f4M, 1= 1580 2 | M| BERCrEXT E 4
64 | ¢ X E R B 350 X 340 2 | A | SR E A
65 | ¢ W EE TR X 0 | A 3 S350
66 | Yo L IEP R 1750 X 1220 2 | g5
67 | X E AT AR L X1220 0 | & g5 3 0
68 | * NES RS2 L= 600 8 | &
69 | A PERE K 653%, L=3000 0 | %
70| A e LD-HC-L11 2 | A FIE
e 71 A X E 2R A LD-HC-L17 1| A G F
72 | Y% YU EE: H=1500 g
s WEEE : 0.5 m/s
%‘”ﬁ B3| A R 2% XSG607-BH. i FR i 25 %%% : ®8 mm 1| & #aberE
ok B B R HlAN
74| * b RE AR BEERAREALT =300 H=60 2 | i
FiE| 75| * M RE AR S 2 PR L= 345 2 | %
G5 16| A PRI RS a4 H:1900 2 | &
7| A FRAL 4 FLEEL10 L= 375 4 | % | FiveEH
78 | % 15 IR 4 L A 7LD 28, 228 IR, B 22T L=650 1| B 1
79 | * EREPN 8FL D28, 2244 L=350 I RS (T
80 | * BRI GE L=650, 164#fH4N 0 | %
E@ 81 | A TN 8%19S+NF-10 HfE: @10 704 | K 88K X 8%
% 82 | A [l 3o A 22 4 8%19s+PP-8 Hit: ©8 35 | K
83| A FLk o8 6 | A
84 | A 4kl D10 SRR 48R | 16 | &
85 | A R 1ENE HES
HE: 3000kg HE: 1m/s
4 86 | A &0 .51 HL GTW10 ﬁ;g%éf Ijﬁl'llo(; ok 1| & | % BIEEGIW10
El M. D485-8-10-16
Bl |87 ] A FE LA J OB EGTW10, SJ=672| XTEAIE: ME 1| A 1 1]
A
88 | A BN ALY 4 | E
Pi il S R A R A A WO .t e W




M B kK B E B
e 1202201048 B/¥5/11 2/ 2 / 2
s THJ 3000 / 0.5.0 - JXVF B AR 1700 X 2800 X 2200
EPZK - FHIAARERT TR« 1500X 2100
HAE| 75| ARl & K K5 /A5 Z W Ko/ s %
89 | ¥ e K 3. 12K 28#b T 74N 2 | % LK
90 | % A EEIZ KEF: 1.8%K 18#biH4X 2 | % B
o1 | * wp K, e | es o 2K
92 | ¥ R T 7 2 2 e bt D8P HRFLER: 240 1 | % |1o###49, L=800
RIS T SR /oot B A P I 500%314 3 | A
2%] I R A P i =325 s | 1F
Bl IAS Yo IR 4R 5 B, JEFRL=330 ®400-8-10-16 1 | &
93 | IR R A A Bkt, JERRL=330 600X650 1 =
DA IR 45 B, JERRL=330 ®400-8-10-16 2 | A
94 | ¥ FEHL ST E Bkt, JEFRL=220 @400-8-10-16 1 4 b I
Y HZRE1 1.2mmiEEAR L=570 1| & M
s HZRE2 2.0mmiEEER L=360 1| # M
95 | ¥ | Fmit. x4aEURIY 164, i 125 8 | B |FXUERE, s
9% | A A AR 294 7%.3000+— 4k 4k IE= 11 kw
97 | A BEATHLSE . IE SR i E: 15.8 K NES AL T
98 | A bRV PN 4 | A
99 | A S5 i 7 S YR B AL 1| E
100 A B b 2/2/2 |1 | &
E 101 A | EAT & GERBD bt N
z 102 A 3 AT FrifE (O
;}E 103| A THih A1 £ b O
104 A JETUS B I
105 A JERYL B DA HE B I AT ¥ 220V / 40W 2 | A
106 A AEE 2 | A
107 % 25 e S 48 2 | A e kh
108 A RG] 5% L= 1000 /% 4 | %
109 A M5 HLYRAE e ThER: 11 kw 1| A 60A
110| A FLYRFEAT I [ gmPa o) 220V / 60W 1| A
111| A FEIEST AC220V 60OW P & 4 | A
TN A RUKSTFK L
’éj; 113| A LARRIT R LX29-7/3 o[ A
o [114] A T LEDT : 1020 X 40 3 | &
115 A H IS HYE AC220VHEFDC12V 0| A4 LEDT
116 | A FRAZIFSE (1370) 4 | A
117 A Eawapiiing 1 | &
118 A R R |54 J% HD/BRB 1|
119 A T [FI R AL 540 548 BVARFRERIE : 6 mm? 45 | K
120 A —OPEL 3X0.75 mm? 20 | K
121 A 2. Smm“ B 4R 15 | %
122 A 10mm2 2 43 Hh 25 15 | K
123 A P B P AL 38 O ik 0 | X
124 A R 80X 60X 1.2 5 | %
125| A LR ERR 10 | 1
126 A & ERE R, 30 8 | k iIN]
;‘% 127 A SIREE HEOE, 10 R I
0 128 A WA Rk @30 mm 4 | A
o [129] A W Rk @10 mm 4 | A
130 A R E ©13, FIE 6 | K| KMELH
131 A SRS Sk @13, 90° 10 | A
A [FOLIRESR 1| A
132 A IEY %Ki 200mm 200 | %
133 A Nk R ®6 mm 116 | ki
134 A ML TR AT 3 | &
135 A FRLRNE () 12 | A
136 A ZH (K UT10-6 20 | A
137 A LH (M SV1.25-3.2 40 | A
B THEEERA A B39 ;6



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M OB R &

:7%5‘.

B

R H202201048 E/¥5/11 2/ 2 / 2
FEREE THJ 3000 / 0.5.0 - JXVF SRR~ 1700 X 2800 X 2200
EP AR - FIHFARERT LEFFRUE : 1500X 2100
Gian lamed R % W K5/ 85 Z W ot/ BAr % ¥
138 ¥ R TR 387 X 1764 I GE
T 139 % FR TR 500 X 1764 3 | | sruevtr: o100t
T 0] % TR 500 X 1764 1| | FF3s0mm RUEAL
141 ¥ SR 387 X 1764 1|
JEi 18821500 X 2100] TR 1500X2100 - .
2| A THAL O A P d DML SR ke | 1 | e [ L0
J# 111, FRAELES
143 A RREEES 0 | B I THLAD
| 144 ¥ 113 IR 1600 X 800 I I GE
1T 145] + BT K. 1=2335 0 | I IHLAC
146 | ¢ B IR S KFE: 1=490 4 | %
147 % IR FETFAUE 1500 2100, FEEKEET THL L=775 H=2115 4 M B 1EBsE
148 B THIR YR JEFF U : 1500 KJE: 1L=2335 1| % | 4ntRAH72S
149 | ¥ B NEE ObR) 917A61-AC220 1| & Tkt
sol A 21k ST FFIT%E:  1500X2100 ) | £ éb;é(;CM*OQXJX
S 11 TTHER. HIR 7
151 A g 0 | A
152 A =Bt 0 | A&
153| A — B 0|
154 A 4% e XU 1500 0| &
155 | +¢ ZE1THR 1. SmmERAR 5 ¥ =780 H=2115 8 | M [tRiT. 1BIT%F
156 | ¢ 1B 1. SmmRAR 5 ¥ B=80 L=1620 2 | %
157 A WESRYA:S 1. SmmERAR 57 ¥ B=80 H=2120 2 | #
= JA RESRYR S5 L. SmmHR B B=80 H=2120 2 |
i1 158 A EE A Tk} 8 | THI
159 | ¢ E ISk AE 508k, KJE: 2320 0 | % AN
160 A panimk:t 0 0|
61| A Z TR K. 2300 0 | %
162 A HIRFEHE Fe XU : 1500 KJE: L=1700 2 | &
163 A 2113t 1600 X400 2 |
164| ¢ FEIEH R TR SIS K5
165 | ¢ FEIEI AR N 25714 10 | K
166 | A T H T t0.5, tl.2 0 | JEHS
167 A HARRT RS 0.5, t1.2 0 | JEL g o
168 % 2 1 TH R A il £:500 14| A
169| A Sl (HLD 3 | kg
170 A FATI K 2 | kg
171 A ek 1 | kg
172 A Y RERTHEEN 6 | kg
;ﬁ 173 A Wb R 1| &
174 A RESIEEREN) ®8 mm, L=1000 2 | %
175 A iES] 5 2 | ®
176| A . . N RO 44N % 2 | %
1 A 4K HEE IR YT 2 n
179 A A H#E $ 10 11 K 0 | %
180 A FMERE SR E BFLRIKE, 1=1860 0 |
181 A |FMEFESRBEE R Y L=510 0 | agis
Mzl 182] A 1K O 84N 4245 0 | %
183 A |, L X DL 0| A
TYI AMERE L8 e AR po étu* B
185| A USRS (M12, FLFE72) 0| & IR R




77l S AR A PR A A

H FAT; e !
B H HF K BRE B
EFERS H202201048 BE/¥i/1] 2 / 2 / 2
L el THJ 3000 / 0.5.0 - JXVF BN R 1700 X 2800 X 2200
P AR - FIIH R KR FETTXER : 1500X2100
Edaa D E OB A 5 /R Z ¥ How/ b % I
1 | BB S BEFE M18X 60 Al P, gk, Rl MERE | 20 | B 8.8 AL
5 R ORI A P24 M20X 110 BT, sl XURIEE. XUEEE] 0 | & 8.8 FALL
5 R R i A P24 M16X110 BT, sl XURIEA. XUESE] 10 | B 8.8 At

2 | SRS g PEAE M16X40 BoPR, TRl gpEs iEREH 8 | B LD

3 | S BRE, A PEAE M16X 70 BPR, g BER) 16| &

4 | EREREE b RERTIECEEER 24 M8 X 25 BeoPel, g, BRRE 16 | &

5 | BB 5 R AR PEAE M12X 40 BP, gk BRR) 2 | B LD

(S L7l = 24 M8 X80 BioPEL, AR, gk BEEH 8 | B

7| EIR N IR M12X90 Bo-P, #iE, igR) 4 | =

8 | S 4R 55 STk IR M12X 45 BooF, sk, W2} 20 | &

9 |IIHIBESZ AR S [ THLR S 12 M12X 45 BioPh, sk jEht o | =
10 (ML 90 5)Ef 2 M12X45 fo P, padh. 2R} 2 | E
o0 [TIHLS TN O R M12X 45 AP, s WER) 4 | E=

12 | TSRS IR e B2k MI12X 45 Ji P, BAk . 2R} ES

13 | PR Sk 2 M18 X 60 AP, sk, ek B8R [ 16 | B | 8.8 HAM

14 | PR S R PEAE M12X 45 BOoPR, TRl gREs BERH 12 | B

15 | PRS2 44t 12K M16X60 Bo~P, A, spek R 8 | &

16 | SrAE S H . dA B PEAE M12X 40 BoPR, TR, PR BERH 12 | B

17| HAT 5 A B BERIM20 filo X FH, B 3XUBRE | 4 | &

18 |t S5hittH B2 M20X90 B, Bk BERE 4 | #=

19 |JEAiER: P24 M18X 40 B, TR, gREs iEREH 10 | B

20 [R5 IR AR PEAE M16X40 BOoPR, TRl gREs BERH 12 | B

21 |1 )R 5 IR AR B2 M8 X40 AP, bk, sk, WBRE) 5 | &

22 |15 5K, PS4 PEAE M12X 40 A P, g, W) 2 | B

23 [BEAR S IR 1R M8 X 30 BooF, sk, W2 58 | &

o[ 24 [BERRIERE I M6 X 20 B, SRR WBRE 168 &
B | 25 |RUEEIR SHEEHH B2HE M8 X 20 AP, g W) 6 | B

26 | BERR 5 TR B M8 X30 fo P, padk. 2R} 58 | &

27 |FEE e OKIEHR) A IERE M12X 120 ARG, BRRk, 1BRE | 86 | & T

28 |FERS [ e (hkhe) ZERRIEME M12X280 | Sroymlds, SPsamis, wEer [ o | &

o |29 |SCRER: IR M12X 45 BooF, sk, W2 64 | &
;jL 30 | EHE 2 M12X 45 PP, Bk pER) 54 | & 13K

31 |BEERD PEHE M12X 45 AP, g W) 54 | & T5K

32 | EBERR PEAE M12X 45 BP, gk BRR) 42 | &

33 |BIFERR P24 M10X 30 BP, g R 42 | &

34 | ELE 124 M8 X 25 fo P, padh. 2R} 4 | E=

35 |WMEHETE P24 M8 X 25 BP, gk BRR) 4 | B
x| 36 | Bk E BEFE M10X 40 BP, g R 4 | B | EELHER
B | 37 [WENENESH P24 M10X 30 A P, g, W) 16| &

38 X E G5 AL P24 M10X 25 BPa, gk RR) 2 | B

39 [ EP RS HRIE BEFE M10X 25 BP, gpE. BER) 24 | &

JEYL| 40 |2t 5EDL A B M12X 120 AP, g W) 12| &
AR 41 | PR A 55 R A e 2 M8 X 25 fo P, padk. 2R} 4 | E=
R3] 42 | PRIEE 38 R 52 JiF K A2 M10 X 80 AR T 3B . B, 18R 0 | ¥ W EA 4%

43 |HRBR 223540 51 R S 48 P24 M10X 25 AP, g, W) 12| &

o 44 | BRIR 728 5 SR RY BEFE M12X 45 BP, gk BRR) 12 | & T13K
7Y [T45 (iR 53 i24% M6 X 20 AETRE, s gl | 2 | &

46 |BEEAR B SEUERD PEHE M12X 45 AP, g W) 4 | B T13K
47 [WEIHLS YL M24 X 110 FOPH, Bk, Rl o | 4 | & 8.8 %
g [ 48 | EWL A S 4Rp B2k M8 X 25 BroPd, sfik, BRE) 4 | B
ML | 49 (R SIHUBH - E 2 I KBRS M12X 100 AEPH ], g, 2R | 12 | % WEA 4

51 | J il b i 5 MK A M10 X 80 A 3G, B R} 4 | 3 TIE A 5%

52 |JFiE A JKYBAET 4X40 84 | %

) 53 | JEHFF RN E B2k M6X 30 T3, sk, 2R 4 | &
?2 54 [Tk 46 B2 M8 X 25 AT, B, BE | 4 | &
T 55 |EbUIS BRI E K2 M8 X 80 AR R, e, Bt 4 | X el g4

56 |2E Sl e IR IZERE M8 X 80 FFEFHE . P, W8t 2 | X TiE A 5%

57 | SR HLE E WK IERE M12X 100 R e, 1R 8 | %



Skyfree
Skyfree:
114轨用M16X55


77l ST AR A PR A A

H B4 e o
A - A R - .-
RS H202201048 BE/35/1] 2 / 2 / 2
P e THJ 3000 / 0.5.0 - JXVF B A R~ 1700 X 2800 X 2200
BPAR - FIARE R AEFEXUR - 1500X2100
Eea e B I e /R Z  H Hoew/h] %
TUFiE ST EBEE R AT 55 . 46
B M O x |’ B OB
e = 1202201048 B/¥5/11 2/ 2/ 2
FEm B THJ 3000 / 0.5.0 — JXVF FRE AR 1700 2800 X 2200
EP 2R - FIIHFARKRRT FEFHIF ;. 1500X 2100
Eiad s A B/ Z  H B/ BAr %
58 L5 HLEAR FRKIE RS M8 X 80 AFETIAE . B B8R | 4 | WA 4%
59 BRI e JKPEE] 4X40 58 | X
60 [ FZRUKSTF K[ & [ Sk iRk M5 X 40 AFEFEE ., Bk, i8R} £S5
el 61 |AlbR TSR 2 B LA M5 X 40 AFETFHE . ik, 188 £
FofF| 62 [fr [ 507 2% B e JEZAK 1A% M8 X 80 RN N s Ea WA 4
63 L5 Lkh E 2 FIKIE RS M6 X 50 AFEFEE ., B, i8R | 25 | X WA Y%
64 |BLs ZehliE: B2 M6 X 25 40 | &
65 | ZRA 5G il 222 M4 X 10 60 | %
66 |51 IHRS % AR IR M10X 25 [ s £S5
67 |IIWZE5ITIRE S 12 M10X 30 fio P, gpEl. W) £
B 68 BRI RS BB M8 X 25 Bil-Pas, s, BR) £S5
69 [I1388 51 I wss IR M10X 25 il P, £S5
70 |4 IR SR 5 HR B2 M8 X 25 B, gpEs. W) 12| &
71 |11z K B2 FEMS X 100 AR, sk, B | 12 | B
72 |EI SRk B2 M10X 30 AR . P, 2R 0| &
73 |EARRE IR B2 M6 30 (R R N ) 18| &
74 |17 Ak B2k M8 X 35 [ N £
E1T] 75 | B A5 HIR 12k M8 X 25 (R N £
76 |HUIRILAL @R K REAEM12 X 120 AFEFHE ., sk, B | 25 | B Tk
77 | HER T 12 M10X 30 ALFET 3, k., 18R} 0| & AR
N F B8 L2 M5.5X 19 30 | &
78 |FHE PR A MRS X 100 o =
79 |BiE ok g 2 [ SRR 22 M6 X 25 ALHG T B R £
80 |11 51 TR 22 Bf;;ﬁ;ﬁ AP, E TR
81 |1 AR 5 IR TR e DUk IEHE M8 X 25 ARG sk 10| & B
TR 5 R TR e TUSLIEHE M5 X 25 ARG, sk 30 | &




